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General Instructions :

1 Candidate must write his’/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 63/0SS/1, Set— on the Answer-Book.

5 (@  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.
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Time : 3 Hours]

BUSINESS STUDIES

EATIE AT

(319)
[Maximum Marks : 100

o SRR L [qoTi 100
Note : (i) All questions are compulsory. There is no overall choice, however,
alternative choices are given in some questions. In such questions, you
have to attempt only one choice.
(i1)) Marks allotted are indicated against each question.
(iii) Each question from Question Nos. 1 to 10 has four alternatives — (A),
(B), (C) and (D), out of which one is most appropriate. Choose the
correct answer among the four alternatives and write it in your answer-
book against the number of the question. No Extra time is allotted for
attempting multiple-choice questions.
fer ¢ () wN U P T T | O weT-uF ® faeew TR 2, AT o 3B we H erfane
fomes & | U@ Wl U9l W oNUB! Ud & fahed w IAC AT T |
(i) Y&® 99T & ofh ST @My fow Mo ¥
(iii) 997 €& 1§ 10 T% & 9% Y99 ¥ 9 fawed — (A), (B), (C) 3iX (D)
g @ 2, O @ w9 ¥ 1 9l faeed § ¥ W@ IOX gH a"n eruel
TA-YRA®HT | U9 TEAT b WA I fore | Sg-Taenedt wei &% fog erfafiea
g T e s
1 Name the technique of scientific management which suggested higher wages who 1

produced standard output or more and lower payment for those who fail to product
standard output.

(A) Differential piece Rate Plan

(B) Work studies

(C) Functional organization

(D) Standardization

JE Y B SH bl B I IARY W I8 GIAE Il ¢ 6 S g Serad
7 399 AP SR BT 3= Hal g ¥ oK T YA B § HH IAET BT
3% M X ¥ Al & 9 |

(A) Tavees e stafia wifisfe wefa
(B) wri—aremad

(C) HAGAR e

(D) YR
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2 Identify the function of management which aims to ensure the performance of 1
work in accordance with the plans.
(A) Planning (B) Organizing
(C) Directing (D) Controlling
U % I8 B Bl UEAM BT [THET Seed Sl & STgEd B e

HT STgarEd <l & |

(A) Fram= (B) €A
(C) fcer (D) Fra=m
3 Different steps in the process of organizing are given below : 1

(1) Granting Authority

(2) Grouping activities

(3) Identification of activities

(4) Assignment of responsibilities
(5) Establishing Relationship

Identify the correct sequence of the above stated steps.
e ik & fafi= oo 9 few o

(1) orfprR &1 geara

(2) wfafafial & @ 9

(3) wifafafial o vea

(4) FErEr @ R

(5) ddy g &

SUTER AT TR B Tl A dedTg |

(A) 1-2-3-4-5 (B) 4-3-2-1-5
(C) 3-1-4-2-5 (D) 3-2-4-1-5
4 How many level of needs are there as per Maslow’s Need Hierarchic theory ? 1
Tl % USIEH oaea® e % STIH Saedharsll & fha @Y B & ¢
(A) 3 B) 4
<€ 5 D) o
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5 Debenture is known :
(A) As fixed capital of the company (B) As ownership Capital of the company
(C) Asworking capital of the company (D) As debt Capital of the company

RGOS B ST ST E
(A) & B W TSl % ' H (B) ®OA DI @i Yol 6 ' H
(C) w9l &l RN S &% & H (D) HA %I FOTYS( &b &7

6 Amount of funds invested in current assets is known as :
(A) Fixed capital of the company
(B) Capital structure of the company
(C) Working capital of the company

(D) Financial planning of the company

o Fufaal § FaRa @ @ i wgen © o
(A) HO B @ S

(B) &l &GSl s

(C) @ & HrEishia gui

(D) @ @l feim e

7 Identify the channel of distribution where producer bypass the chain of
middlemen and approach the consumers directly to sell the goods.
(A) Zero stage channel (B) One stage channel

(C) Two stage channel (D) Three stage channel

faaeer &% 9§ wreEw @ geAie EH Saed awge 999 %6 faU AeRel & @
B I HH WY SUAGIS § TUG BT T

(A) @ wWiE oo Arem (B) uwaw wiw faawor @mem
(C) el faaxor wmend (D) dm wig faaror Aregm
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8 Airtight containers protects the product from moisture. The component of product 1

mix highlighted is :
(A) Branding (B) Labelling

(C) Packaging (D) None of the above

TG-GH Heal SUR Bl T § G Y&H Hid & SUR-HF & 9 g2 W
YHIST ST T T T ®

(A) sI=T (B) wafeT
(C) Ul (D) S ® ¥ B3 &I
9 Which of the following do not come under fixed shop-small scale retailers ? 1
(A) General Stores (B) Single-line stores
(C) Speciality stores (D) Itinerant retailers

frrafafad & @ ®F &1 B TH 0 — Wl §hM Hwt AR & ST<Ed Tol o ?
(A) |ERT ©WR (B) T & YBR %l ISl & ®WR
(C) fadw aegelt % =r (D) gTr wge B Hewt gEM

10  When consumer service cells have been set up by manufacturers to attend to consumer 1

complaints and take appropriate steps for their redressal, it becomes a part of :

(A) Right to be informed (B) Right to be heard

(C) Right to seek Redressal (D) Right to consumer education

TS ITEhl ET IUHRS B reEdl B g ot 3% R N % fau sfaa
HEH IO b [T IUMET Far-we Wiug fRU W ¥, O 9% 9w war ©

(A) T 9N & SAHHRT B (B) gTEE & SAIBR @B

(C) fyrpraa framer & st @t (D) Iudier faem & sifrer @t
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11  Rishi has recently joined AMV Ltd. a company manufacturing refrigerators. 3
He not only defined the objectives of the organization but also formulates the policies
to achieve these objectives.
(A) Identify the level of management at which Rishi has joined the organization.
(B) Also name the other two levels of management and one major function to be

performed at these two levels.

ity erfi—orh e w TuEal (AMV) faftes & & & ooy fmar 3, =

THEY B IART B & | I8 7 Had ST & Sedl bl g wiar 3

afug g & 3T Seed B WA B b fag Aiqar H SEwr T

(A) Yo % SH WX B U9 i E X 39 @red § (W 7 s &
s fomam ¥

(B) 9 % = & WA & A a3 qAT 39 A1 @ 9} fefed few s
Il TH-UH G B Al ARy |

12 Wellness Pharmacy Pvt. Ltd. is engaged in manufacturing and distribution of medicines. 3
The company knows that due to Covid-19 pandemic the demand of its medicines will
increase. So it has set up an objective of increasing its sales turnover by 40%. To
achieve this objective it gathered the information that most of the doctors are
recommending this medicine and a lot of opportunity is still available in the market.

By doing so Wellness Pharmacy Pvt. Ltd. had completed the two steps in the planning
process.

Identify the steps the company had completed and explain the next step in this process.
I wEE ygde fafs qaEal % IaeT ud faaeer § @ ¥ | e S
T T #fae—19 TemMIA & HROT AT IAEAT B [T T | T T U ek
e B 40% % e @l Se9d Muiid fhar | 39 SE9 @ W & & fou
SEY gE GO Umtd @ {6 oifuwiyt Seed 3@ T @ e Id ¥ SR 9N
7 ol Wl 957 ¥ gIEEI SU@eH ¢ |

THT B Jeie Bl wigde fafes 3 e wftear & a1 aon & qx fear
I TN BT YEATC 5778 w1 1 qRT o & S7R 36 UehaT % ST TXOT Bl qHERT |
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13 Complete the following flow chart : 3

Jinancial and decision

financial decision

( ______________________________ (Proportion in which funds ( .................................
are raised from various )
) SOurCeS) ---------------------------------

frfafad yare o & qU &g |
. Jfemww T

J l J

fodi folm
( ................................. Iz aqaq]aﬁﬂ'qﬁ&lﬁ]qgﬁ(—ﬁ ( .................................
................................. ) Y BV THET fopar sTar & | )

OR / 3t¥an

State any three objectives of financial planning.

foda s & =l i Seedl @1 Sed dItey |

14 Identify and state the component of product mix which is used as an identification 3
of a product in the form of a name, sign, symbol or design.

Also state two other components of product mix.

SUE-MA % IH g<H B TTANT U IGHI ST@ DT [TEehr JarT Th =M,
Hond, Ta A1 f&SgT &% &Y 4 U IAWR &l GedM & b (7 SGAT fpan s
T | TAE-MY & T S HIHl HI Iead@ Wl BT |

15 'Consumer Protection is in the interest of business itself.' In the light of this 3
statement state any three points of importance of consumer protection from the point

of view of a business.
TIHTHRT X0 @ HEEd % fod § ¥ | 39 HUT b €eH H I & G
Y IUATRT WX & Hed & (el O (G5l Bl Iei@ DI |
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16 Reema is a successful manager because she knows as per changing situations how 4
principles of management are modified and applied.
(A) Identify the nature of principles of management highlighted in the above lines.
(B) Explain three other characteristics of the nature of principles of management
other than the one in (A) explain in the above lines.

M % 9% JSU® ¢ i 98 Sl ¢ [ Seddl g3 drRafdl ¥ yEy %

foarl @ $9 dufid wd vgw feam S ®

(A) Sui dfral § gl udw & Raeral B usla @ usEg |

(B) Sudre dferral & waems e fagwar & el werw & fagrar @ 3@ weia
W A o= fqgvan wwsEy |

17 A Pharmaceutical company has the following organization structure. 4

Chief Executive Officer

Medical Consumer Baby Diabetic Nutritional
Devices products care Drugs supplements
products

Personnel Production Marketing Accounting Personnel Production Marketing Accounting

(A) Identity and explain the type of organization structure followed by the Company.
(B) State one merit and one limitation of the structure identified in (A) above.

U Tl 99 il HEHT bl TIeH ol T Bk T -

T HEH TSR
| | | | |
fafercar EEKIES] TFesta fg HYHE Dl IO
YA B & @I gt IS
| e SaTE |
| | | | | | | |
FiHe  SdAEA  fquE GielEn| HHE ERICH fquom i

(A) HTE ER SUAT T TS & & YK bl Uedi—y Td THSAEU |
(B) Suim (A) ¥ Yga™ U T @l @iz Uk @19 9 Uk GHAT & Ieoid BT |
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18

19

20

21

Explain the following money market instruments : 2+2=4
(1)  Certificate of deposit

(ii)) Commercial paper

o1 IR % Ffaiad gadl ol a93msy

(1) <™ g|or 9

(i) =TT I

Explain ‘Single-line stores’ and ‘speciality stores’ as fixed shop retailers. 2+2=4

WAl g HZht AUR & &Y § ‘T & YbX bl agall & & e ‘fasiw argai
B R B qHARY |

Pushpak stores is a large scale retail shop where a large variety of goods are sold 4

in a single building. The entire building is divided into a number of departments.
In each department specific type of goods like stationery goods, electronic goods,

garments, jewellery etc. are made available.

(A) Identify the type of retail trade done by Pushpak stores.

(B) State any three limitations of this type of retail trade.

Haq | 991 S € | U [IERT § f99Y TR Sl aigetl S R 6l |9Ee,
FAFLIH B GAM, HIS, I IAME IqH HAT AW & |

(A) g% € B o S W@ el AUR & Y& & Jedig |
(B) 3@ UBR & PId{ AWK &l [hel dF ddel & Ieid g |

Explain ‘work studies’ as a technique of scientific management. 5

I TS B Th dbrilh & &Y H ‘B AIIT bl GUART |
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22

23

24

25

Explain the steps in the process of controlling function of management. 5

g & = dd @l gihar % IO @l gEsEd |

Differentiate between equity shares and preference shares on the basis of 5
(a) Choice

(b) Payment of dividend

(¢) Return on capital

(d) Voting rights

(¢) Accumulation on dividend

guar oiell’ wE gEigery il H frAaigd STERl WX oW By
(a) 7=

(b) THIT BT YA

(c) ol X wfawd

(d) @ 3 @ AfBR

(e) TN BT GEI

Marketing is important for the business, the consumers as well as for the society. 5
Explain how by giving any five points.

Torqum e % g, Sudemet & Mo ok @y & wue & faw weeet ¥ oo

&3 U fog 39 g GEEC B 7

State any five difficulties faced by the buyers and sellers engaged in external 1x5=5

trade.
P IR BINT |
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26 Name the concept of management which harmonizes the efforts of different department 6

to achieve common objectives. Also explain any five features of this concept.

Y B 3G STIYTON BT 9 Iai3Q ol THE S99 @l Wi & fog fafa=r fawmt
% YOTEl § THEYdT @R € | 39 STIYUTO @ el gra fasrodret @ o ¥uesy |
OR / 31yt

Objectives are end results towards which all managerial efforts and organizational
activities are directed. In the light of the statement explain any five objectives of

management.

‘Tg9T ge oifom aftomm B ¥ =l ofit fl yerushia Al qen e feharent
ol R fhar ST 3 1 39 ®U & Ged A ye & Rl Ui Seedl Bl gHeEy |

27  Selection is the process of choosing the most suitable candidates. State the steps of 6

the selection process.

T Y SUgH AR % A DI UhAT & | TIT UihAT % T Bl Seid

BT |
OR / 15t

Why is the employee training necessary in an organization ? State any siX reasons.
Tl deT # HHATE! BT YR R ETdh sl & ¢ b=l B BRI @
S DY |

28 Public deposits are very popular and convenient method of raising short term and 6
medium term finance. Explain any four merits of this method.

HIASTTeh ST STedTaty U Hearaty fad ues & & 9ga arbiyd Ud gaemse &ty
T 139 [ty & #E 9 @Y g9eRy |
OR / 3ty

As per Companies Act, 1956, companies are required to transfer a part of their profits

in reserves which is known as 'Retention of Profit'. As a source of long term finance
it has many benefits but still many limitations too. State any three benefits and three
limitations of Retention of Profit.

HAT AU 1956 % STAR HHACTAT & [T A BT B 911 Fadt | A &
¥ T ®T BT & Y A & O’ AW " 1 S § | s ety foa
% T % TG H 36k b3 AW ¢ b s elal I & | Tl & §9d o foheel e wel
g qF dmrel (3TN @ v B |
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29

30

Price of the product should be neither high nor too low as it affects the sales volume
and profitability. Hence various factors are taken into consideration while determining
the price of a product. Explain any four such factors.

SAE H I 7 1 31 A1 A1y iR 71 &1 98d &H Fiits Ig fasha &1 A wd
ATHYEAT %I THIT BT § | 31d: U Ieg bl Jod Maiid & 99d 9ga o Bl
® N W @ W € | U Rl 9 el Bl GwEsy |

OR / sty

The route which the product follows from manufacture to the consumers involves certain
costs. This affects the price of the product and profits. Hence the manufacturer has to
take into consideration certain factors before finalizing the channels of distribution.
Explain any four such factors which affects the choice of distribution channel.

SAEH § SUH a% SHIE T8 A1 § Sl ¢ S84 9gd |l @Nd fed &l & | 98
ST & eI 3T I &l THTT BTl & | 37 fIaxor & A1eqd & 997 & § 9o
FB BB B A H @ A ¢ | U R IR Bl B gy |

Maha Footwears Ltd. is a company having 200 shops at different places of the country.
All the 200 shops having the same name, same decoration and they are dealing in the
same type of products with same price. All sales are made strictly on the cash basis.
(a) Identify the type of retail trade.

(b) State five merits of this type of retail trade identified in part (a) above.

o1 pefaay fafes ue & ¢ fmel sor # faf wml 9 200 g € 1 |

200 ZHMI BT Th G 9 &, Th STHl GA—aoell & G971 9 Th & YbR bl awgall

qUH & T T AT Bl & | T (o0l % T8 STER oY @ Sl §

(a) TEHY HMUR & Yo & J&dig |

(b) YT AN (a) § UEAM T Feht SR & YbR & el Ui @14l &1 Iead
HIT |

OR / styan

Rekha purchased one kg of pure Deshi Ghee from a shopkeeper. After using it she
had a doubt that it is adulterated. She sent it for a laboratory test which confirmed
that the ghee is adulterated. State any six reliefs available to Rekha, if she complaints
and the consumer court is satisfied about the genuineness of the complaint.

W A T HAER § 1 fea gE <ol 9 @te | wliet & 9@ 39 9@ gal
for g8 fHeEe amenm © | SEY 39 U@ SENIeEl 9l & fau s fee 9 g
& A fop & Fremae amer ¥

gie IR STETAd [IhrEd Sl Jgreiar | GqE ¢ @ (@l % Rerd w7 9T ol
U B 9Tl bRl B: TEdl Bl Ieeid BNty |
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BUSINESS STUDIES

AEQHAF  AeqTT
319)
Time : 3 Hours] [Maximum Marks : 100
o SRR L [qoTi 100
Note : (i) All questions are compulsory. There is no overall choice, however,
alternative choices are given in some questions. In such questions, you
have to attempt only one choice.
(i1)) Marks allotted are indicated against each question.
(iii) Each question from Question Nos. 1 to 10 has four alternatives — (A),
(B), (C) and (D), out of which one is most appropriate. Choose the
correct answer among the four alternatives and write it in your answer-
book against the number of the question. No Extra time is allotted for
attempting multiple-choice questions.
fer ¢ () wN U P T T | O weT-uF ® faeew TR 2, AT o 3B we H erfane
fomes & | U@ Wl U9l W oNUB! Ud & fahed w IAC AT T |
(i) Y&® 99T & ofh ST @My fow Mo ¥
(i) 9o " 1/ 10 9% & A% 99T H "R fawed — (A), (B), (C) X (D)
g @ 2, O @ w9 ¥ 1 9l faeed § ¥ W@ IOX gH a"n eruel
TA-YRA®HT | U9 TEAT b WA I fore | Sg-Taenedt wei &% fog erfafiea
g T e s
1 Which of the following statement describes the principle of ‘Division of Work’ ? 1

(A) Work should be divided into compact jobs to be assigned to individuals which

leads to specialization.

(B) Subordinates should respect their superiors.

(C) Managers should be kind and just to workers.

(D) A subordinate should work under the supervision of one superior only.

frafafed & & &9 @ HI9 wR-fawew & faera @ 9ue wxar B 7

(A) & &1 9 BIE-BIE 9N ¥ $ih 39 YR Al &l QT sH1 e e
fafirieeor @& TorEr e |

(B) gl & U aRks AUBINAl & THM HAT del |

(C) wsrgsi ® U9 HHAME & U 4G Td YUl e aiRy |

(D) THh MUY H THIAT BId TH § FFF & UM BHT AMCY |
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2 Identify the principles of Management in which workers are encouraged to develop 1
and carry out their plans for improvements in the organization.
(A) Discipline (B) Order
(C) Equity (D) Initiative

Y % SH g @ qeang fTEH sl @ '@ ed ¥ gEUR B % (g
I AT H GHa wE @ I% @n HW 6 fag gRka fear S g

(A) eTsmEd (B) =eren
(C) g (D) ved—&THar
3 Debenture is known : 1

(A) As fixed capital of the company (B) As ownership Capital of the company

(C) Asworking capital of the company (D) As debt Capital of the company
FOOT B AT W@ D
(A) U1 B W GSt % ®4 H (B) HUAI B @i Yol b w9 H

(C) w7l & MA@ GS % & H (D) S Bl FOTYS( &b &7

4 How many level of needs are there as per Maslow’s Need Hierarchic theory ? 1

Al & ST TEsdd fAEr % oTE STasaddre & fhad WX B & 7
(A) 3 (B) 4

<€ 5 (D) 6
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5 Different steps in the process of organizing are given below : 1
(1) Granting Authority
(2) Grouping activities
(3) Identification of activities
(4) Assignment of responsibilities
(5) Establishing Relationship
Identify the correct sequence of the above stated steps.

e whear & fafa= axor A9 g w ¥
(1) oy &1 deamrT

(2) wiafafal & @ I

(3) wiafafry @ TgE™

(4) Ty @ faRe

(5) dEY W &

USRS aifd Gl &1 EEl %A YgAiNT |

(A) 1-2-3-4-5 (B) 4-3-2-1-5
(C) 3-1-4-2-5 (D) 3-2-4-1-5
6 Identify the channel of distribution where producer bypass the chain of 1
middlemen and approach the consumers directly to sell the goods.
(A) Zero stage channel (B) One stage channel
(C) Two stage channel (D) Three stage channel

faaeor & 3@ AreEw @ wEEniy fEH IdEe aRl 99 % a0 qeERel @l e
Bl YT Hih QY IUNEATST ¥ THh Bl & |

(A) & Wi fqager e (B) ws wWig faazer mremm
(C) Tawlm foqazer wregw (D) & wlg faaeer wemm
7 Amount of funds invested in current assets is known as : 1

(A) Fixed capital of the company

(B) Capital structure of the company
(C) Working capital of the company
(D) Financial planning of the company

o Fufaal § FaRa @ @ i wgen §
(A) HHA B W Y

(B) &1 &GS s

(C) wwr o wrisha gsi

(D) wr @ ferim A
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8 Which element of marketing mix make the goods available to consumers at a 1
place where they conveniently make purchase ?

(A) Product (B) Price

(C) Place (D) Promotion

fauo-—figr &1 @ @1 gew aEgel B SuHESl & [T S9H WM U Uy HIar
¢ TRl 9 SH @l ¥ %hd B 9hd & 7

(A) SU= B) T
(C) @ (D) e
9 When the firm of a country imports goods for the purpose of exporting the 1

same to the firms of some other country with or without making any change,
it is known as :

(A) Import Trade (B) Internal Trade

(C) Entrepot trade (D) Export Trade

9 el T 39T W ®H fRE gAY Q9T B OWAT | IEgell H oaTd uiEdd &
gty st fomn fpdl uftaaw feu fepdll o= <91 &1 Fad & & Sg9d ¥ &l
¢ I IE HEAE ©

(A) ST MR (B) or=fie =R

(C) yAMAE =R (D) fr@ =R

10  Which of the following statement is correct in respect of composition of individual 1
machinery set up under the Consumer Protection Act, 1986 ?
(A) District forum consists of a president and three other members.

(B) State Commission consists of a President and not less than two other members,
one of whom shall be a woman.

(C) National Commission consists of a President and not less than four other
members, two of whom shall be women.

(D) National Commission consists of a President and not less than five other
members.

IUTRAT HRTOT STfafay, 1986 &% I=Eid Tied =Teh A Bl SGHT & e
¥ frfaiag § @ &9 91 ®Y9 & T °?

(A) Tem ®E & e YUE qOr 99 o §e™ B §

(B) T HHIIHE ¥ TH YUN 94T H F B I T TGS B € NH W TH
Afear R |

(C) T &My § T GUW dUT %9 ¥ ®9 IR FY G5 od €, N 9
T AfEAd B |
(D) TEE HHIA § Th YUN qUT A ¥ HH U FY 9 oA T |
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11 Wellness Pharmacy Pvt. Ltd. is engaged in manufacturing and distribution of medicines. 3
The company knows that due to Covid-19 pandemic the demand of its medicines will
increase. So it has set up an objective of increasing its sales turnover by 40%. To
achieve this objective it gathered the information that most of the doctors are
recommending this medicine and a lot of opportunity is still available in the market.

By doing so Wellness Pharmacy Pvt. Ltd. had completed the two steps in the planning
process.

Identify the steps the company had completed and explain the next step in this process.

JaE ®HET ygde fafes qaEal & Saed ud faawo # @@ € | HE Sl
¢ 6 ifds—19 FeMil & SR 38®! TRAT & AN SN | o 397 9 faeha
amad @ 40% do 9™ B IL9T Eika hAT | 39 I Bl U B & MU
SEY YT GO TS B B SifUwiyT STeed 39 TR Bl HAR o & S dNMT
# ol fl §5d ¥ gIaEX Iu@H ¢ |

THT 3k Jad wrEl wigde fafes 3 e ufear & 3 aon o g e §
S TN T GEATY T el o QR TR & S7X 39 WichdT o TR =Xl bl §9SIsy |

12 Rishi has recently joined AMV Ltd. a company manufacturing refrigerators. 3
He not only defined the objectives of the organization but also formulates the policies
to achieve these objectives.
(A) Identify the level of management at which Rishi has joined the organization.
(B) Also name the other two levels of management and one major function to be

performed at these two levels.

iy erfi—orefl s & wumal (AMV) fafies & & & srey feanr &, =

THEE B IATET HA & | 98 7 had ST & Se9Al bl g wian 3

g @y ¥ 3 Seedl B WK B % fWu Aifoei o g9 ® O

(A) YS9 & IH WX B gedE BT 59 w39 '@ ¥ Ry F & e
e foRam 2

(B) YS9 & T A WA % AW IART qUT 39 I W wX Frenfed few S
I TH-UH G B 4 ARy |

63/0SS/1-319-B | 6 ﬁ [ Contd...



13  Explain ‘Investment decision’ and ‘Dividend decision’ as types of financial 3

decisions.
fodm ol & v & w0 ¥ FEg o o anwisr Mol @ @wemey |
OR / 3ty

State any three essential elements of a sound financial plan.

ug ol o AT & fohel 9 oTasde dcl Bl Iwid BNt |

14 Identify and state the component of product mix which is used as an identification 3

of a product in the form of a name, sign, symbol or design.
Also state two other components of product mix.

TG-S & TT UCH Bl UTAINU TG IHHT Iea@ DI TFRT TN Teh M,
Hohd, fae a1 foois & &9 o Ush S @ U & b [0 SYAET fear Sian
T ISR B W o UEhl @ St@ I BT |

15 'Consumer Protection Act was passed to protect consumers'. State any three points 3

of importance of Consumer Protection from the point of view of consumers.

TTHIRT TG ST ITHIRISH DI Y& % a0 91 fepam T ar | IuHies
% BT ¥ ITAT EXAT &A@ b (Bl dF [SgSll B Se@ BT |

16  Pushpak stores is a large scale retail shop where a large variety of goods are sold 4

in a single building. The entire building is divided into a number of departments.
In each department specific type of goods like stationery goods, electronic goods,
garments, jewellery etc. are made available.

(A) Identify the type of retail trade done by Pushpak stores.

(B) State any three limitations of this type of retail trade.

U ©F U6 98 TAW & Hedl §hM ¢ oad [T TerR & a|ge T 8
H99 ¥ 991 90 2 | YA U o {99y @1 agetl e RNl 6l 9,
ARG BT GHM, HUS, MYV IAME YA HUT AT ¥ |

(A) JU% W & 6 S ® Feal @UR & JHR & 9gaig |
(B) 3@ UBR & Pl AR &l fhel dF Al & Ieid g |
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17  Explain ‘Single-line stores’ and ‘speciality stores’ as fixed shop retailers. 2+2=4

WAl g HZht AUR & &Y § ‘T & YbR bl agall & & ‘fasiw srga
@ 'R B g9y |

18 Explain the following money market instruments. 4
(A) Call Money
(B) Treasury Bill
o TN & Efaiad gl B qasEy
(A) FrE ql

(B) ol fot

19 Reema is a successful manager because she knows as per changing situations how 4
principles of management are modified and applied.
(A) Identify the nature of principles of management highlighted in the above lines.

(B) Explain three other characteristics of the nature of principles of management

other than the one in (A) explain in the above lines.

{MT T% 9%d Ja9% & R 98 Sl & {6 gedl g5 URRIiaal ¥ yad &
el @ e dOiHd T yged e S €

(A) SuUe dfRal § geerivd YeY % RAErl @ YPid @B ggeneg |

(B) Suiem ufrml o quems TS fagar & srfdied yaea % fasral @ 39 s
H AN o fagvan g9smEy |
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20 A Pharmaceutical company has the following organization structure. 4

Chief Executive Officer

Medical Consumer Baby Diabetic Nutritional
Devices products care Drugs supplements
products

Personnel Production Marketing Accounting Personnel Production Marketing Accounting

(A) Identity and explain the type of organization structure followed by the Company.

(B) State one merit and one limitation of the structure identified in (A) above.

U TAT S99 Tl BRI BT ST el T WhR ¥ -

T HEBRT AH
| | | | |
Fafercar YR EEEIGREE LECEE T
IUH LT B CARCEI I Iarsat TAE
| gl 3arE |
| | | | | | | |
®fed  Saed fguom GlCICR| CAIC IATEH feraue SiCIC |

(A) ®UHI ERT U T EMSH & & Wbl &l Ygdi-u Ud FHIET |
(B) Suim (A) ¥ Yga™ U T @l @iz Uk @19 9 Uh GHAT & ool BT |

21 Explain the steps in the process of controlling function of management. 5

Y & IS B @ Aihar & TGO bl gESEY |

22 Explain ‘work studies’ as a technique of scientific management. 5

Ih TS B Th dobrilh & &Y H ‘B AIIT bl GUART |
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23 Differentiate between 'shares' and 'debentures' on basis of : 5

(A) Status (B) Nature of Return on Investment
(C) Risk
‘Fer wd FumEn § FrefaRad e WY erade witig
(A) Rufa (B) Tt WX oW & Ui
(C) <iRew
24  Explain the following terms related to marketing : 5
(A) Market (B) Marketer

(C) Customer

fqoe ¥ gafuq FrAfafad gkl & J99Ey
(A) TR (B) fagurenat
(C) TUHeRT

25 State any five difficulties faced by the buyers and sellers engaged in external 1x5=5
trade.

I AR H G hatsll Ud fagharenl g1 9THAT &l S a1dl foheel qid shio-sal
B S BN |

26 Maha Footwears Ltd. is a company having 200 shops at different places of the country. 6
All the 200 shops having the same name, same decoration and they are dealing in the
same type of products with same price. All sales are made strictly on the cash basis.
(a) Identify the type of retail trade.
(b) State five merits of this type of retail trade identified in part (a) above.
o1 gelad fafes uh &l & el <o o fafr= @l 9 200 3@ & | |99l
200 3HMI BT Th STET M 2, TH STHl Gra-—qosT § a7 9 T of G &l aegall
q UH & T T TF-SF B & | T (o0l % e e oY @ Sl §

(a) TEHY MR & Yo B Tedig |
(b) U WM (a) ¥ &AM T Heh{ AR & b & (bl rd ArHl & Iecid

HINTT |

OR / styan
Rekha purchased one kg of pure Deshi Ghee from a shopkeeper. After using it she
had a doubt that it is adulterated. She sent it for a laboratory test which confirmed
that the ghee is adulterated. State any six reliefs available to Rekha, if she complaints
and the consumer court is satisfied about the genuineness of the complaint.

W A T HAER § 1 fha g8 <ol 3 @ie | Tled & 9] 39 9% gel
for a5 fremae I ¢ | SEY 39 TS WM 9Ee & Wy 9 e 9 g
& 1 fop & fremEe amm 3

gl IR STETAd [IbrEa @l Jqrear § GgE ¢ A @l % Rerd B 9 ol
U B Ol [hel B TEdl Bl Sweid i |
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27  Selection is the process of choosing the most suitable candidates. State the steps of 6
the selection process.

IO T Iuga oTvedl & GAE DI UihAT © | WO UhAT % =X B Swid
ST |

OR / syt
Why is the employee training necessary in an organization ? State any six reasons.
Trell de § wEaIEl W WEw i ofasdd el 5 ¢ fhel B RN @
S HINY |

28 Name the concept of management which harmonizes the efforts of different department 6

to achieve common objectives. Also explain any five features of this concept.

Y Hl ST STILUTON BT 19 IA130 S GHE Se99 &l Uind & fou fafy= fawam
% YOTEl § THETdT @Rl € | 39 STaYUTen @ fheel gra fasrodret @ o ¥wemsy |
OR / 3ty

Objectives are end results towards which all managerial efforts and organizational
activities are directed. In the light of the statement explain any five objectives of
management.

TL9T e oifem aftomm B ¥ =l ofit i yaruehia yamEl qeun @eATds fharet
oI e fpar Srar 3 1 39 ®U & ded A yery & Rl Ui Seedl @l gueEy |

29  Public deposits are very popular and convenient method of raising short term and 6
medium term finance. Explain any four merits of this method.

HIASTTeh ST STeTary Ue wearaty fad ues & & 9ga Ay Ud gaemse oty
T 139 [ty & #E 9 @Y g9eRy |
OR / 3ty

As per Companies Act, 1956, companies are required to transfer a part of their profits

in reserves which is known as 'Retention of Profit'. As a source of long term finance
it has many benefits but still many limitations too. State any three benefits and three
limitations of Retention of Profit.

HA! ATAFTH 1956 &6 FTAR HHEAT % T A9 BT $B 90T Fodl § AT w9
N T ®T BT & Y A & O’ AW " 9 9§ | @ ety foa
% 9Id % ©9 H 3% B @9 ¢ (b= Py SITAT HI & | ATHI % §ad &b el qIF @THi
TS A qEetl (31T @ Swrd By |
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30

Price of the product should be neither high nor too low as it affects the sales volume
and profitability. Hence various factors are taken into consideration while determining

the price of a product. Explain any four such factors.

SAE & T 7 1 ST A1 Ay ofiX 71 &1 98d %A Fiih g% fashd & A ud
ATHYEAT I THIIT BT & | 31d: T Ieg bl qod MEiig & §9d 9gd § Breel
B O H @ Wl ¢ | UY fRl A @ienl @l 9usEy |

OR / et

The route which the product follows from manufacture to the consumers involves certain
costs. This affects the price of the product and profits. Hence the manufacturer has to
take into consideration certain factors before finalizing the channels of distribution.

Explain any four such factors which affects the choice of distribution channel.

SAEH | SUHET % SAE f78 70t § S1ar & 399 9ga | @rd Mfed & § | 9%
ST & oI 3T I Bl JHTT BTl & | 37 faaxor & A1eqd & 997 & § 9ed
FB BB B AH H @ A & | T Bl 9 Bl B a9y |
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EATIE AT

319)
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o SRR L [qoTi 100
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alternative choices are given in some questions. In such questions, you
have to attempt only one choice.
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(iii) Each question from Question Nos. 1 to 10 has four alternatives — (A),
(B), (C) and (D), out of which one is most appropriate. Choose the
correct answer among the four alternatives and write it in your answer-
book against the number of the question. No Extra time is allotted for
attempting multiple-choice questions.
fer ¢ () wN U P T T | O weT-uF ® faeew TR 2, AT o 3B we H erfane
fomes & | U@ Wl U9l W oNUB! Ud & fahed w IAC AT T |
(i) Y&® 99T & ofh ST @My fow Mo ¥
(i) 9o " 1/ 10 9% & A% 99T H "R fawed — (A), (B), (C) X (D)
g @ 2, O @ w9 ¥ 1 9l faeed § ¥ W@ IOX gH a"n eruel
TA-YRA®HT | U9 TEAT b WA I fore | Sg-Taenedt wei &% fog erfafiea
g T e s
1 Google is continuously busy in adding new features in its search engine to remain 1

ahead of changes made by other competing search engines.

The following objective of management being reflected in the statement is :

(A)
(B)
(©)
(D)

It aims at optimum utilization of resources

It ensures fair Return on Capital

It increases productivity

It meets challenges of the changing environment

T 0 §d 399 § §gd |l T3 f99dd @A Sied § % © dlie 98 8
Td 399 ¥ g @ arel Uiaanh @Remet ¥ oM W1 39 HUH H U™ &
frafafed S WX yeer wsaT ®

(A) TOHT 9T TEEAl BT AIHAAH IUANT T |

(B) @& duit WX Sfad ufqwd &1 Smedred Iar § |

(C) 9% IAEHAT & SET & |

(D) T uREfdd aaERer &I gAiaal &1 Al T H He Bl § |
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2 Through this process, a manager synchronizes the activities of different departments.
Identify the concept.

(A) Controlling (B) Planning
(C) Organization (D) Coordination

‘T YiRAT & T USSR Ot faumn @ fearet § et wnfud wear ® 0
YT &l Teai=y |

(A) TE=m (B) framm

(C) dHmed (D) ==

3 Amount of funds invested in current assets is known as :
(A) Fixed capital of the company
(B) Capital structure of the company
(C) Working capital of the company

(D) Financial planning of the company

o graal ¥ Fefia ew @ Ui #wweanl ¢
(A) HH B W Y

(B) @Al &1 Sl @

(C) w7l & HEdE goi

(D) wdr @ forim drern

4 Debenture is known :
(A) As fixed capital of the company (B) As ownership Capital of the company

(C) As working capital of the company (D) As debt Capital of the company
FOGH B AT AT T

(A) BN B WA G % ' A (B) wEE B @i o b w9 A
(C) » ol sl goit % &4 & (D) H™T bl FOTgSH & &9 |
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5 The type of plan in which expected results are expressed in numerical terms is : 1
(A) Policy (B) Methods

(C) Strategy (D) Budget

AISTHT T 98 JehX ey gufaa aiomdl & SeaTds Jsal § oad fhar wiar © ¢

(A) fa (B) faferai
(C) Toeifa (D) T=ie
6 The communication between Production Manager and Marketing Manager is an 1
example of :
(A) Diagonal Communication (B) Upward Communication
(C) Downward Communication (D) Horizontal Communication

IAET USH Tg fUoM gaeue & S gEEe Seedd © o

(A) fawer s (B) SUX & SR OO
(C) <™ &1 3k | (D) 99dd TR
7 Woodland company sells its product like shoes, wallets apparels etc. through its 1

own stores. These stores are known as :
(A) General Stores (B) Single line stores

(C) Speciality stores (D) Secondhand goods shop

geds HUAl YT IUE S S, HUS IANG U WiH & HIEH § S9dl § |
¥ =E 9W T ¥

(A) YR (B) & ¥ YBR @ Il & ©E
(C) fa9w axgsti & = (D) YTl awgstt @ ge
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8 When consumer service cells have been set up by manufacturers to attend to consumer 1

complaints and take appropriate steps for their redressal, it becomes a part of :
(A) Right to be informed (B) Right to be heard
(C) Right to seek Redressal (D) Right to consumer education

T IRl BT IUHGIS Bl el B g ot 3% W B & fau sfaa
HTH IoM & [OQ SUHERT FAT-HE WiNd fBY S €, d 98 AW sl §

(A) @ 9N & SAIBR B (B) gTEE & AR @B
(C) fympraa framer & o @t (D) Iudier f3rem & ot @t

9 Airtight containers protects the product from moisture. The component of product 1

mix highlighted is :
(A) Branding (B) Labelling

(C) Packaging (D) None of the above

TG-GH HeaAl SAR B T & FI&T Y&H B & SUR-HF & 9 g2 W
eI STl T & 98 ©

(A) sI=T (B) wafeT
(C) Uit (D) U H ¥ wig L
10  Which of the following do not come under fixed shop-small scale retailers ? 1
(A) General Stores (B) Single-line stores
(C) Speciality stores (D) Itinerant retailers

frrfafad & § @F &1 B TH 0 — Wl §hM Hewt AR & ST<Ed Tol T 7
(A) |ERT 'R (B) T & YBR % Il & ®WR
(C) fadw aget ¥ w©R (D) gTr wge B Hewt gEM
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11

12

13

14

Ajay is working in XYZ Ltd. His routine work is to assign jobs to workers.
(A) Identify the level of management at which Ajay is working.

(B) State two other functions of the level of management identified in (A) above.

I UgEdEeE fafes d s & | Sg®l SfMe B wUANdl @l B 9 ol

(A) YS9 % IF WK B RN HINT FE R FEF BRG T

(B) SWad (A) ¥ UM T YEY % WX WX AU WM 9 I oI Bl B Swd

HINTT |

'Consumer Protection is in the interest of business itself.' In the light of this

statement state any three points of importance of consumer protection from the point
of view of a business.

TYHTHRT XV T HaEd % foqd § ¥ I 39 HUT b €eW H FIE™ & g
Y SUAIRT XA % e & (bl O (OGSl Bl Iei@ BT |

Explain any two factors that determines the fixed capital requirements of a company.

TH T BB B AU S WE S agaskarstt b i s ¥

Wellness Pharmacy Pvt. Ltd. is engaged in manufacturing and distribution of medicines.

The company knows that due to Covid-19 pandemic the demand of its medicines will
increase. So it has set up an objective of increasing its sales turnover by 40%. To
achieve this objective it gathered the information that most of the doctors are
recommending this medicine and a lot of opportunity is still available in the market.

By doing so Wellness Pharmacy Pvt. Ltd. had completed the two steps in the planning
process.

Identify the steps the company had completed and explain the next step in this process.
I BT Yigae fates gasal & Ided U fqaier ¥ g § | Bl Sl
T o6 HIfTs—19 TEMIY & BT FHH! AT bl AT Tl | 37d: 369 ou fospar
e B 40% A e @l Se9d Muiid fhar | 39 SEv @ W & & fou
SHY UE AN THHA Bl 6 UGS SR 39 TAE B G@E ad & SfX I
H W fl §8d ¥ goraEX Iu@eH ¢ |

e s A R WA fifrre 3 e whE % @ o B g R E
S TN Bl GEATe f AT g R & SR 39 UlshdT & ST I %l a9EEy |

3
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15

16

17
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Identify and state the component of product mix which is used as an identification

of a product in the form of a name, sign, symbol or design.
Also state two other components of product mix.

IAE-HMY & ST Uh bl YUY UL BT Iei@ T [Tl YA Tk 9,
Gohd, Tore a1 Rog9 & &9 ¥ Ush SR @ UedM & &b [0 SUANT fehar S
T | SAR-Tig & A I UHl B Sei@ Wl BINT |

Pushpak stores is a large scale retail shop where a large variety of goods are sold

in a single building. The entire building is divided into a number of departments.
In each department specific type of goods like stationery goods, electronic goods,
garments, jewellery etc. are made available.

(A) Identify the type of retail trade done by Pushpak stores.

(B) State any three limitations of this type of retail trade.

I H 99 9 ¢ | TR faum 7 fae g @ axgenl S IRl @l 9,
SAFLIH B WM, HUS, AT IAME IqH HAT AW & |

(A) g% & B o o W el AUR & Y& & Jeaig |
(B) 3@ YA & PIdl AU &l fhel dF Al & Ieid g |

The marketing manager of A Ltd. selling generators has been asked to achieve the

sales target of 100 generators per day. He assigns this tasks to 10 sales persons
working under him and also gives them authority to perform the task and at the same
time make them accountable.

(A) Identity the concept discussed in the above para.

(B) Also state the important elements of the concept identified in part (A).

U faftee & faum veee & S S e @ ol el € oufafed 100 Seed
o Tl @1 @ fEgr T | SEN ow ol i &y At 10 fushaeeate @l
T8 B G eI oiR S= OE & e e @1 orfeerk ot < femm qum @
& S= TaeEl o ¥ feEm |

(A) SUUE STI®E H Afdd STIERem & Yedrg |

(B) @ & 9M (A) ¥ UEAM T3 @Y ¥ YT U<Hl Bl Sead@ H DT |

3



18 Explain ‘Single-line stores’ and ‘speciality stores’ as fixed shop retailers. 2+2=4

WAl g HZht AUR & &Y H ‘T & YbR bl agall & & ‘fasiw srgai
B I B g9y |

19 Reema is a successful manager because she knows as per changing situations how 4
principles of management are modified and applied.
(A) Identify the nature of principles of management highlighted in the above lines.

(B) Explain three other characteristics of the nature of principles of management

other than the one in (A) explain in the above lines.

THT % 9% JSUd ¢ i 98 Sl ¢ [ Seadl g3 dnRufadl ¥ yeY &
el @ by diya T wge fear S %o

(A) SuUE Uil § gerivd yeY % RAErl @ YPid @Bl ggeieg |

(B) Suiem dfrml o quems TS fagar & srfdied yeea % fasral @ 39 e
@ A o= fagivam wwEmy |

20 Explain the following money market instruments : 2+2=4
(i) Certificate of deposit
(ii)) Commercial paper
T TR % FreRiad S B SR
(1) <™ g|IeT 9
(i) arTRas I
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21  State any five difficulties faced by the buyers and sellers engaged in external 1x5=5

trade.

I AR H G shatal Ud fagharell GIRT 9THAT &l W a1l foheel 9 shio-sal
B Sed DN |

22 Give the meaning of controlling. Explain the relationship between planning 5

and controlling.

ooy &1 ot Afve | Fem Td fae % e B ausEy |

23 Give the meaning of preference shares. Also explain any two types of Preference 5

Shares.

gaffaerdl sish &1 o dfw | galfusry sfa % fhl @1 gl @l wWEmEy |

24  Explain ‘work studies’ as a technique of scientific management. 5

ISR US4 I Teh dobiih & &9 H ‘B AT bl GHARY |

25  Marketing is important for the business, the consumers as well as for the society. 5

Explain how by giving any five points.

Taque aa™ % e, Sudeel & A S | & 9he & fag Aeeyel © 0
¢ uw frg W gU wEmET H9 7
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26

27

Maha Footwears Ltd. is a company having 200 shops at different places of the country.

All the 200 shops having the same name, same decoration and they are dealing in the
same type of products with same price. All sales are made strictly on the cash basis.

(a) Identify the type of retail trade.

(b) State five merits of this type of retail trade identified in part (a) above.
el geload fafes uh sl & el <o o fafr= @l 9 200 3@ & | |9

200 3HMI B Th STET M 8, TH STHl Gra-—qouTl § a7 9 T of YK &l aegall o
J UH I W AT B & | g fosht R e SneR W) @ S §

(a) PeH AUR & T % qeaig |

(b) IUE W (a) ¥ &AM T Feh{ AR &% UbIK & (bl I ATHl B e
HINTT |

OR / ¥an

Rekha purchased one kg of pure Deshi Ghee from a shopkeeper. After using it she
had a doubt that it is adulterated. She sent it for a laboratory test which confirmed
that the ghee is adulterated. State any six reliefs available to Rekha, if she complaints
and the consumer court is satisfied about the genuineness of the complaint.

W@ 7 Th gHAER ¥ 1 feel gE 9 W wlE | wlied % 9 39 o gl
for oz frerae amem ¥ 1 SO 3@ UH WEReTEr glier & fau s e 9 g
# & 5 O Pramae amem ®

gie IR STETAd [IhEa Sl JLrefar & GgE ¢ A @l % Rerd w7 9 ol
U B drell el ®: TEAl Bl I diNTg |

Price of the product should be neither high nor too low as it affects the sales volume

and profitability. Hence various factors are taken into consideration while determining
the price of a product. Explain any four such factors.

SAE & T 7 1 ST A1 Ay i 71 &1 95d %H Fifh Ie fasd & A ud
ATHYGAT %I THIAT BT § | 31d: U Ieg bl qod Maiid & 99d 9gd § Bl
B @ H @ S § | U ARl 9 wrel @ g9sEy |

OR / 3t¥an

6

6
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The route which the product follows from manufacture to the consumers involves certain
costs. This affects the price of the product and profits. Hence the manufacturer has to
take into consideration certain factors before finalizing the channels of distribution.
Explain any four such factors which affects the choice of distribution channel.

SWEE T IUHT b I 7T ART § ST & I8 9gd | ard MRd B ¥ 1 98
ST & I BT |l bl THTT Hal & | 37 faaxor & A1ead & 997 & § 9o
PV BRHI B AH H @ A & | T B 9 Bl B Ty |

28 Name the concept of management which harmonizes the efforts of different department 6

to achieve common objectives. Also explain any five features of this concept.

YSY ] 3G STIUTON &1 9 IA130 S GHE Se99 &l Uind & fog fafy= faam
% JOTEl ¥ THETdT @Rl € | 39 STaYUTen @ fhel gra fagradreti & o ¥wesy |

OR / 3t

Objectives are end results towards which all managerial efforts and organizational
activities are directed. In the light of the statement explain any five objectives of

management.

‘Tg9T ge oifom uftomm B ¥ RS9l ofit i yerushia yamEl aen e fharen
I R fhar ST & 1 39 ®U & ey A YS & el Ui Seedl Bl gHesy |

29  Selection is the process of choosing the most suitable candidates. State the steps of 6

the selection process.

IO T IugH Rl b gAE DI UiehdT & | AT UihAT & AXON Bl S
BT |

OR / 1yt

Why is the employee training necessary in an organization ? State any siX reasons.
Trel e § wHaal @ Wi b ofasdd et 5 ¢ fhel © @I @
ITE DI |
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30  Public deposits are very popular and convenient method of raising short term and 6

medium term finance. Explain any four merits of this method.

HIASTeh ST STy Ud Aeamary fad Usws & ol 9gd Aieiid Ud gagmsd ard
T | 39 fafyr & *E I” @1y usEy |

OR / stan

As per Companies Act, 1956, companies are required to transfer a part of their profits
in reserves which is known as 'Retention of Profit'. As a source of long term finance
it has many benefits but still many limitations too. State any three benefits and three

limitations of Retention of Profit.

HA ATAFTH 1956 & FTAR HHEAl % T A9 BT $B 90T Fodl § Aa9Tn w9
H BRI BT Bl ¢ (58 Al 1 ¥’ AW @ S S | @ srary foa
% W b &Y H 38 b @A § by b3 Tl ol ¥ | Al % W o Rl <A et
Td A HErel (eTE) A Swerd By |
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